Calculus |

Lecture 1

Feb 19-8:47 AM

Seme  Review
) Given =2 , b=-w,ond €9

Q) Eveluode $ — 4ac
AR -4(@)@)= 44 -2 =12

o) 12
b) Sinc)‘ \I ba—ﬂo\c :D = r—a
336 V2 - 632

> ) 642
. % & abMac () rea
C) Stm?\\S\{ ST o o a)

. R1el2
z_t

Feb 10-8:56 AM

February 10, 2025



Colve  and %m?h
100-2) 2 (x-4) < X9
4x —8 42X R LXx-B
SN
bX —16<KX =93
~—»
X —X L~ +\b6

HX
<
4 : 2 s
00 o _5~

Toderval  Notedion (_w/ %

S BuiMer Noboion %x\ xct]

Such
that

Feb 10-9:08 AM

Sde 5\; G,pm,‘)h
ool &)
—Fr  1+—>
1 4

Seve  |8x-5|=3
ex-5=3 R 2Xx-5:=-3

2% =% 2x=2 N ~\
E-_’L\ D“—i c//S\)c N
LN = L1y SBN. le\ uxsﬂ
Sowe -38x-5 <3
Add S
—345 £ 28X-5 5 $3v9
2 L a2Xx <

Divike by &

Feb 10-9:14 AM

February 10, 2025



February 10, 2025

‘e 2P Slope- Int Form
(xiven 3= %_ X —6 f¢5= x AR
\) Co m‘?\e*e e Shart below 83 Vse ‘H\ef Q\\Gf‘

x|\ Y Slope M= deow.

C; \~Oé Yt ©,6) Zx ) /

3—2' (*;0)5
(0,~6)
=0 Y= 3WD-6:0-62-6 /

X):O 0 - %X—G - %X:G 3X:‘2_ 'X.:Ll

Feb 10-9:21 AM

Dead 00 Cirdde wWith  CeqYer aof (5,0)
QAN

:
Wik yodivs 2. QL

Diswoss s

Aowatn £ Ronae
X-\Jedues a_ vesS

14xss 243

{11 5) EJR, 97]

Feb 10-9:28 AM



February 10, 2025

Si«\?\\'g\{

R) |
) a3 )= 4 0t o™ el

2) (e@zﬁm& o 6K 9
s PO

3) (3x-5) - (2 —%‘5}

sQx® _\BX —\bX +25

:\c\ = — 30X -‘qZ‘B\ Trnowmial

Rinomyal

Movowyal

Feb 10-9:34 AM

Vactor Com?\e\e\‘f
2
) 6x” —1ox - 2xX(3x -5
B B )
GeE

9) &x (2x +3) -1(6@ ﬁ)(‘sx -9)

3) Tx’- —10x +25 = (X -5)(x—5)
Le=1 - (x _5)9‘

) 3% —5x -% =ax® 43 -8x_ -9

N2~ e

FYE. - @) s(& + 1)

Produet = —24 9, (2 :(2(*1)(3)( _%)
Sowm = 3R

Feb 10-9:42 AM



So\\lt
) 3x 45 =0
8 ax® -5x:=0 X=0  2%-5=0
x (ax —s) =0 =
ZQrO—.S“nQ*o( F(‘OP- zo 5_} =
B x5 - x —6=0 e
(x -5)(?( k‘&) =0
x—>3=0 x+2=0
X3 x - -0 {_QIBE
N
4 ex® 4x =9
ax® yx -9=0 5
(2?6 +°\)(X —1>30 {1' h_k
o430 OR x-1-=0 X
- -ﬂé x=1 {39——’ 1}

Feb 10-10:12 AM

Q \)O.A'V\:\- C E ﬁ‘\WA’\l oW
x= ;\D_f”aﬁ ‘L\D?_J.w\c' @\)Qc\m’\\'c Foemula

b 4ac Disceimimant

Sewe  4%x° —20x +26=0

T 1

Q4 b--20 e

B4aC - (-20) - 4 (4)9)-0

1—5/ Do ﬂo‘\' vse @ SO(
2 AQD.
om 2(4)
_ 20 10 _20 |
= =5 5

Feb 10-10:22 AM

February 10, 2025



§mA X Tv\'od\b\e
Rﬁ‘\‘f _“‘\'N\B‘e
10 9
X ¥ /Y/ T Formola.
S \«/ vy typotenose
9)
y (X~ &) 10

&+ (x42)(x+2)= 100

PN CRT SV ER Rl
ox* ¢ 4x _—=16=0
__—*

2
Divisivle by & £ SR SEEC
- —b @ hee a=1 b= C-M3
=0 B -e-2 4019
R QR ITINE {( S 192
aQl) - . 1%
.2 \‘H 2o

e 'X\/

Feb 10-10:29 AM

February 10, 2025

Complete the chorts below  Sor
Ct.(m.[)\\ t

Fwabolg,

25\ 625
2.3\ 529

Feb 10-10:40 AM



February 10, 2025

Conatder  Yhe %m{ﬁ\ below
4 w')\o’f Vim §) = =5

Inclodel 53

lim §J-12
xpat

K 5> Soackion Velve of x=3
O
X e elo
Consider N 3‘“{\\ Bbelow o So‘):oo

/N/S(x) )‘_»0'\‘
== Vi $x)- —00

- x40~
N SO‘)‘-O lim §(X) =0
2D - 00

Feb 10-10:51 AM

Class @z 1\ Rox Moor  Fead Answer.

) Sewe  3(x-1) -5lx «9,) o
3x-> —5%x-10: —
_Ox —13=-13 ,2)(/0 gLO}

&5 chw‘)\\ dX — &(‘3 6 o&‘rer Qo vv\\s\tlnvg ’Y‘\t

C\W‘\' \oelow:
x\Y

O \ -3 20
él @ (O/“B

Feb 10-11:10 AM



